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TrRiIGONOMETRY (Q 5, PAPER 2)

1998

measures 140°.

p is a port such that
|£bap| =55, | Zabp| =110°,

|ab| = 10 km and |bc| = 20 km.
Calculate
(i) |bp], correct to the nearest km

SOLUTION

5(a)

140°
360°

A=rr?x 4 =
360°

s~ A=147 cm?

7(6)* x

5 (b) (i)

Yy _ Opposite

tanA===——
x  Adjacent

5 (a) The angle at the centre of a sector of a disc

The radius of the disc measures 6 cm.
Find, in terms of 7, the area of the sector.

(b) Aisan acute angle such that tan A=22.
(i) Find, as fractions, the value of cos A and the value of sin A.

(ii) |cp|, correct to the nearest km.

p

(c) Three ships are situated in a straight line at points a, b and c.

(if) Find the measurement of angle A, correct to the nearest degree.

20 km

Area of sector

A=7xr?x

360°

v

PYTHAGORAS

this angle is called the hypotenuse.

Pythagoras’ theorem applies to right-angled triangles.

One of the angles in a right-angled triangle is 90°. The side opposite

X+ Yy =r>=20*+21° =r?
= r? =400+441=841

S r=+/841=29
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X Adjacent
=2 COSA=—=———"
COSA=35 r Hypotenuse
) . y  Opposite
= 2 SinA===—""
sin A 29 r Hypotenuse
5 (b) (ii)
tanA=2 = A=tan'(Z
. A=46°
5(c) (i)

SINE RULE FormuLA

sinA_sinB _sinC e a __ b ¢ a
a - b - c |7 OR SlnA SInB SInC .......

You use the Sine Rule when you are given:
[A] Two angles and one side.
[B] Two sides and one non-included angle.

REMEMBER IT AS:

sin(Angle 1)  sin(Angle 2) Opposite side  Opposite side
Opposite side  Opposite side R sin(Angle 1)  sin(Angle 2)

The 3 angles of a triangle add up to 180°. Therefore, angle C = 15°.

a ¢ N a 10 C=15°
sinA sinC  sin55° sinl5°
_ 10sin55°
sin15°
~.a=|bp|=32 km
4=55" B=110°
¢=10km b

5 (c) (i)

THe CosINE RuLE You use the Cosine rule when you are

given:
a’ =b*+c*-2bccosA | ....... [A] Two sides and one included angle,

[B] Three sides.

There are two other versions of the cosine rule not given in the tables:

b? =a*+c*—2accosB @
c® =a’+h*-2abcosC| """
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|£pbc|=70° [Straight angle]

b? =a”+c® —2accos B

— b? = 202 + 322 — 2(20)(32) cos 70°
= b® =400+1024 -1280cos 70°
~.b=|cp|=31 km

a=20km




